SN 21
H: Hels WEMA 25 L SAZE
S E2E

e
=

VRE-LE

SHRA(ZA) - NRAIY - BES

Ofl & 24

HE T
Ofl &k 24

S22

> H1 [T o

39,537,782
6,700,000
270,000
3,940,000
28,627,782

51,059,442

A12,421,660

selet WSMA 2=

Q
H
=
k1]
o
ne
Bl

bl

> H1 o

21,722,815
6,700,000
2,002,000

13,020,815

24,495,697

N2,772,882

TS24

> H oY

19,427,225
6,700,000
1,837,000

10,790,225

23,892,742

AN4,465,517

H=H2 HESA

= H

2,400,000
1,200,000
360,000
840,000

8,517,742

N6, 117,742

401 Al EHIL LY

> 10 og

2,400,000
1,200,000
360,000
840,000

8,517,742

N6, 117,742

01 Al&H]
OJH=U=Z2 HESA

2,400,000,000&

= H1 o

2,400,000
2,400,000

1,200,000
360,000
840,000

8,496,500

6,096,500

MY ~ HRas22 C21s

= H1 o

9,000,000
4,500,000
1,350,000
3,150,000

6,500,000

2,500,000

401 Al EHIL LY

> 10 o

9,000,000
4,500,000
1,350,000
3,150,000

6,500,000

2,500,000

01 Al&|
ONFEX~LEas22 T2

9,000,000,000&

= H

9,000,000

9,000,000
4,500,000
1,350,000
3,150,000

6,500,000

2,500,000

>
[0
07
0%
0
S
Qe
ny
H
Hu
=
X
0B
>

= H1 o

3,910,125
1,000,000

227,000
2,683,125

5,375,000

N1,464,875

401 AlEHIZ SO

= H1 o

3,910,125
1,000,000

227,000
2,683,125

5,375,000

N1,464,875
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2A: &2

o HelE DEMH PE Y CADY ¢H
Eelr T2HE (Etl EE)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
01 AlZHI 3,750,000 5,375,000 41,625,000
OMES~a82t HEEZ HESA
3,750,000,000& 3,750,000
= 1,000,000
= 227,000
Al 2,523,000
02 Zcldl 150,000 0 150,000
ONS~ad2t G252 HESA
150,000,000 150,000
03 AIZ=0HbI 10,125 0 10,125
ONS-AH2t HREE HETA
3,750,000,000& %0.27% 10,125
NEHEXI 7 Z2IHESA 3,010,800 3,500,000 489,200
1 AIEHIL20HI 3,010,800 3,500,000 A\489,200
(A E=1:] 3,000,000 3,500,000 500,000
OKNEIEZX7 =23 A 3,000,000,000& 3,000,000
03 Al&=0Hdl 10,800 0 10,800
ONEIZXT S2OHESAl
3,000,000,000& 0. 36% 10,800
4100t HESA 1,006,300 0 1,006,300
401 Al EHIL S 1,006,300 0 1,006,300
(A E=1:] 1,000,000 0 1,000,000
Odga0tul EESA 1,000,000,000& 1,000,000
03 AIE20HH| 6,300 0 6,300
O848 100tu &3 A 1,000,000,0002 *0.63% 6,300
HESLAZZOHESA 100,000 0 100,000
1T AIEHIXL 28I 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
OUHESLH MY HEEZ HESA JI=2
& AAIEHA 100,000,000 100,000
t2 FA2e 2,295,590 602,955 1,692,635
[ 65,000
Al 2,230,590
CEEAE 130,936 80,720 50,216
= 65,000
Al 65,936
401 AlZHIZ SO 130,936 80,720 50,216
= 65,000
Al 65,936
01 Al&Hl 130,000 80,000 50,000
Oz EXZ 34l & uX 130,000,000 130,000
= 65,000
Al 65,000
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2A: &2

;B DSHH PE L CADE

el &2 sX2el

S

(i}

4l

ng

- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
03 AIZ=S0HbI 936 720 216
O=ZHEAZ 4l & wil
130,000, 000& *0.72% 936
A8 FOEAALS 500,000 500,000 0
401 AlZHI20HYI 500,000 500,000 0
01 Al&Hl 500,000 500,000 0
OLTE FLEHEHAAY 500,000,000& 500,000
S2OHd o84 Y 2el 1,009,974 22,235 987,739
201 2pt23d] 16,800 18,235 A1,435
01 AtR22lt| 13,300 15,610 22,310
OfIds e 10,780
—EAHANEZRARAE 70,0003 19 »43] 5,320
-2 ao3 70,0003 *13E +63] 5,460
Oz2s HASE f4d32 FIIHAM ==
63,0002 *40= 2,520
02 224l 3,500 2,625 875
OEXN=EY SIIfER 1,750& 2,000 3,500
203 HRF=&H| 7,000 4,000 3,000
03 AIMMFAHRFLIH| 7,000 4,000 3,000
OURE HEANE SRFA 7,000,000 7,000
401 AlZHI20HYI 986,174 0 986,174
01 Al&tl 986,174 0 986,174
OZ 2L DI2EX EX0HLH
986, 174,000& 986,174
SPHLEAZE NEAS (AIEH & 20HEI) 251,800 0 251,800
401 Al&HIZL S0 251,800 0 251,800
01 Al&Hl 250,000 0 250,000
ORAEREAHZE MM 250,000,000& 250,000
03 Al&SOHHI 1,800 0 1,800
ORHLRAZE AL
250,000,000&+0.72% 1,800
QEMHEX] XotxtE =2 ZHISA 402,880 0 402,880
401 AlZHI20HYI 402,880 0 402,880
01 Al&tl 400,000 0 400,000
O LA XIotxtE =2 HHISA
400,000,000 400,000
03 Al&S0HHI 2,880 0 2,880
OLEMUHX XotXe = HUISA
400,000,000& *0.72% 2,880
XotS2t g 2 2tel 766,896 901,224 N 134,328
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2A: &2
MM He|st nES

S9i: masDe ROl DiEE HH (ol @2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OX&ENOISELe 28 S22 A
2,000 *4Z+3,000% 24,000
OXEHEAL NSEE S0 L SFF22H|
5,000,000& 5,000
OXENDSE 2SED 7Y
30,000& 100K E 3,000
OXEN Adus ZASY 25,600
—=2ZAl 20,0003 *2A1 2tx 1163 x20 12,800
—BXZA 10,0003 2 Al 2++2H+163]+20 12,800
ONE0IAHEHBHSAIE 2 5,320
—H5lE HERY 3002 *2,0000H 600
—JtEgz0] d3e27Y 280,000 =44 1,120
— AR = 30,000 10« 123l 3,600
OREANMZ S 2AT 22t
1,000,000& *43] 4,000
ORNEHBUR LAY 29 750,000 *32| 2,250
03 A2 1,000 1,000 0
OXEHAIE ZAH S2& 1,000,000 %13 1,000
301 LEEA3 2,100 6,400 24,300
10 A HIZE &S 2,100 6,400 24,300
OXNNEANZstHAL AHRSAH & 2B 319 &t
I 24 7,000 300 2,100
307 QIZtolA 10,000 0 10,000
04 GIZHHALS X 10,000 0 10,000
OHM92| XHE H=HI 10,000, 000& 10,000
405 KHobE=H| 15,000 0 15,000
01 XL 2EFH S 15,000 0 15,000
OOEI0IXREHEAHS L2571 |
3,000,000& 3,000
Ounss NdH 22l 300, 0002 *40CH 12,000
NN B 29 119,469 134,898 A~ 15,429
101 @124l 73,210 69,538 3,672
04 JIZtN22 S8+ 73,210 69,538 3,672
O2ge¥A o= 66,771
=Jlaa 34,5603 6 H x260 53,914
—=5=4 34,5602 6«50 10,368
—E 1= 34,5602 x6H«12 2,489
OREeA B8= 6,439
—NE=2E 66,769,920 *13/1,000 869
—AHEE 66,769,920 +10/1,000 668
—=0H= 66,769,920 *45/1,000 3,005
—Ad=2E 66,769,920 *26.65/1,000 1,780
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M S22
M PHols DESAXH
thel: MIE 0o NEA Ots=2 3& (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
—LoIMIIQAEE  1,779,418R%65.5/1,000 117
201 2pt23d] 46,259 42,860 3,39
01 AtSZelHl 14,340 11,840 2,500
OX&EHZ2eHEH 2S5
300,000& *12& 3,600
O&AEH A28 7 & 4| 5,900
—diOIMEEH EW 7Y
150,000 x2CH *4 3 1,200
—&=AD EH F 150,000 *10H+23] 300
—HA Bl A2 100,000& *22| 200
— o IR X2t 700, 000& 30123 4,200
O=SAMEXN 7 25,000 *204t Xt+23] 1,000
OF A2 Bt=2H| 3,840
—QOIAHNAHRY 242
150,000& *12& 1,800
—do|etE 2|l =5 90,000& x12& 1,080
—got2Ae I == 80,000& x12& 960
02 B524H| 31,919 31,020 899
OZ222= ¥ HAl 17,700
—NIIR3 1,200,000 x12& 14,400
—EZME 23 250,000 *23] 500
—usSRY FE3 400,000 13| 400
—ZESH B3R= 200,000& 128 2,400
OAE EHIS AL 14,219
—2d2 | 2,470 898 m’ 2,219
—HAlA R 10,000, 000& 10,000
—3t&4 || 500, 0002 *4JH A 2,000
ANEHOIZBAIEZE &X 15,000 0 15,000
401 AlZHIZ20HYI 15,000 0 15,000
01 Al&Hl 15,000 0 15,000
OXNENHERL &5 750,000 & *20CH 15,000
HY2HGHI(=2 ) 125,811 109, 446 16,365
ol 3| 61,011 60,486 525
o124H| 56,811 56,286 525
101 eIl 56,811 56,286 525
03 RIAHA2 2N E s 56,811 56,286 525
ORI HAAZ 2R E = 56,811
A== 1,367,880 x 1H*12& 16,415
—JIg=¢ 1,367,880 * 1 +400% 5,472
—Axt=g 55,5202 x1H 20 1,11
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M S22
M #H2EZU(E2M)
el ol | (o &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
—A2tel =G
55,5202 x 1 x1/8*60AI 2+ 122 *150% 7,496
—2&0HaE
1,367,880 x 1 +1/2432 x8A| 2tx 128 30 EH * 10,538
65%
—ZE S| 1,367,880% *150% 2,052
—JHAIXI & Y| 1,367, 880& *200% 2,736
—=2H| 90,0002 x1H«12& 1,080
—nsSE x| 140,000 x 1«12 1,680
— Pl 90,0003 1 *12& 1,080
—5d2RE 55,520 * 1B 128 150% 1,000
—Xd=0a SAXA 50,000 1H*13] 50
—H2AEE= 50,656,362 *26.65/1,000 1,350
—=0AH= 50,656,362 *45/1,000 2,280
—&THEE 50,656, 3622 *34/1,000 1,723
—1N82E 50,656, 3622 *13/1,000 659
—LoIMIIQAEE  1,350,000&+65.5/1,000 89
S244| 4,200 4,200 0
203 YR=&H| 4,200 4,200 0
04 REN2IHRFLYI 4,200 4,200 0
ORA2IHRFAH 350,000 12& 4,200
J23l 64,800 48,960 15,840
B2 A 30,240 23,040 7,200
201 2pt23d] 30,240 23,040 7,200
01 AtR22ltl 30,240 23,040 7,200
OFA2IgI1=3H] 28,800
—Ypt=Z| 50,000 x24H 12 14,400
—= 2l 50,000& 24 H 12 14,400
O=A| Xtz 120,000 x12& 1,440
o4l 34,560 25,920 8,640
202 O4Hl 34,560 25,920 8,640
01 2B 34,560 25,920 8,640
HRFAI|20i] 120,000 x24H x12& 34,560
HRes(=20) 16,656,838 26,204,000 N9,547,162
= 270,000
= 1,938,000
Al 14,448,838
RSN 16,656,838 26,204,000 A9,547,162
= 270,000
= 1,938,000
Al 14,448,838
AT 7 KNSOHEII= Ol Atatet 2,098,946 1,470,000 628,946
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SA E21
M WLES(T2D)
ool HEXE (o &2
SA B ER(S) - MRAE - BaS Of &r e HIDE
= 238,000
Al 1,860,946
311 XL =0lXtatet 2,098,946 1,470,000 628,946
= 238,000
Al 1,860,946
02 Al -2« AXNSHEI I SXL SO0l Atatet 2,098,946 0 2,098,946
OY9=2100tw EEIA (2004X1SIHLIIS)
1,200,000,000% 3. 5% 42,000
=S 21,000
Al 21,000
OSRN0tm SHFTAF (2005 AHLIIZ)
2,400,000,0002 *3.5% 84,000
=S 42,000
Al 42,000
OY=100tw EEI A (2007XISHLIZ)
4,000,000,000% *3.5% 140,000
= 70,000
Al 70,000
OSESDotn HETAL (2007XIANLI|2)
6,000,000,000& *3.5% 210,000
= 105,000
Al 105,000
ORdS S22 (20074 XHLIIS)
21,000,000,0002*3. 5% 735,000
OAZRI 2 HESAH2008E XIHIHLIIS)
6,000,000,000% 3. 5% 210,000
OMBIZEZ JHESAH2010E XISHLII3)
9,000,000,000& *3.5% 315,000
OAG2L3HNEZ SHESAH2010E XH
=) 10,000,000, 0002 *3. 62946% 362,946
Al.Z. 7 ASHe)ls 234 7,600,000 1,400,000 6,200,000
T 1,700,000
Al 5,900,000
601 A== ae 7,600,000 1,400,000 6,200,000
[ 1,700,000
Al 5,900,000
02 Al - XN I SALSE=sae 7,600,000 0 7,600,000
OS=100tn &EZAH20044)
3,000,000,000&+1/5 600,000
= 300,000
Al 300,000
OS=00tn &S AH2005H)
4,000,000,000&+1/5 800,000
=S 400,000
Al 400,000
OSS0Itn &HESAH2007H)
6.,000,000,000&*1/5 1,200,000
=S 600,000
Al 600,000

- 203 -




M S22
M WeReEsS(E2M)
o BHEXE (S E )
- _ Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
OZ=100tw EHZAH20074H)
4,000,000,000&*1/5 800,000
= 400,000
Al 400,000
ORHALL R TEBAH2007H)
21,000,000,000&*1/5 4,200,000
SAZF NS Ol ktats 690,000 864,000 A 174,000
&2 270,000
Al 420,000
311 XL S0IRH&HE 690,000 864,000 A 174,000
= 270,000
Al 420,000
04 SLERXUL S0t 690,000 864,000 A 174,000
OLFUZ 26 HE(BIHEXS)
3,000,000, 000 *6% 180,000
OF2Z HESAH(NESSA=22013)
4,000,000, 0002 *6% 240,000
=2 130,000
Al 110,000
OF2=Z SHESAH200022X=222012)
4,500,000, 000 6% 270,000
=2 140,000
Al 130,000
SLTIINLZ /S L4E 2,900,000 2,900,000 0
601 LSS LE 2,900,000 2,900,000 0
04 SLERNL SIS LS 2,900,000 2,900,000 0
OLBUZ 264 HE(PIMEXS)
10,000,000,000& *1/10 1,000,000
OF2Z HESAH(NESSA=22013)
10,000,000,000& *1/10 1,000,000
OFS=Z SHHESAH2000233R=322012)
9,000,000,000&*1/10 900,000
gtetg JIE 3,367,892 0 3,367,892
802 BtEt=DIE 3,367,892 0 3,367,892
01 =2 xZee= 774,110 0 774,110
OREISSFIAEAEAMY IHIEXES Bt
774,110,000& 774,110
02 Al - CHIEXSEtE = 2,593,782 0 2,593,782
ORHABSENZAYAIY CHIZEZ 818
2,593,782,000& 2,593,782
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